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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 1.1-) 
December, 2016 

ELECTIVE COURSE : COMMERCE 

ECO-006 : ECONOMIC THEORY 

Time : 2 hours 	 Maximum Marks : 50 
Weightage : 70% 

Note : The paper contains three sections : A, B and C. 
Instructions are given in each section along with marks. 

SECTION - A 

Answer any two questions from this section : 
2x12=24 

1. What is meant by income inequality ? Distinguish 
between 'Personal' and 'Functional' distribution 
of income. Suggest measures to reduce inequality 
of income and wealth. 

2. Explain the determination of consumer's 
equilibrium through indifference curve analysis. 
Also state the conditions of consumer's 
equilibrium. 

3. Why should equilibrium between marginal cost 
and marginal revenue be a necessary condition 
for equilibrium of a firm ? Explain with the help 
of a diagram. 
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4. Explain the concept of Elasticity of Demand. 
What are its different types ? What are the main 
determinants of Price Elasticity of Demand ? 

SECTION - B 

Answer any two questions from this section : 2x8=16 

5. State and illustrate diagrammatically the law of 
Variable Proportions. 

6. Explain critically Frank Knight's theory of profits. 

7. Explain the concept of supply and state its 
determinants. 

8. What is price discrimination ? State the conditions 
under which price discrimination is practiced. 

SECTION - C 

9. Distinguish between any two of the following : 

(a) Monopoly and Oligopoly. 	 2x5=10 

(b) Economies and Diseconomies of scale. 

(c) 'Normal' goods and 'Inferior' goods. 

(d) Rent and Quasi-rent. 

ECO-006 	 2 



tift.311.-006 

IAllflet) %story chitichm 
Tr-lta. *tan 

toast, 2016 

\Ruch 141 ,:ktigtoi :1.1140.4 
•  tait.311. -006 : Mire* tlaalti 

WO/ : 2 rfr4 

4)-e 

 

37fEW—dri 37*.  : 50 

37c/ 	: 70% 

:4i 3777 	 atk "i 37-4W (9/ 	uS 

fit# * ; 7 2i dic), 37*. 7 Tr4 tt, 

1137grum-1414ftrifttr491t .z9.TfFrurv 2x12=24 

1. alizr 	amrrriur 	4:zrr cric-44 t? 33rEr -k` tlqictricb' 
afR chititott)' 	 ci I I 	I 44 	fit 743.171 

311:11:IN1T '0 WIT cryt 	d'il(4 1777 I 

2. aTiftiRM '4'W kC)tiui (Indifference Curve Analysis) 

73tritwiT74-09'*fitTkuf wzry§tir -1N7 .a-crttrwa 

3. fmti1 714*    3T 

4"W 11-07 tiT i  aTrairm vr4astral.  t ? 
~talf11,1 "4.  tizigar vict)? otmstif 711-A7 I 

ECO-006 	 3 	 P.T.O. 



4. 1:67 fi (1 74 'WI' aTIN17117 	ai1twI oh 	714.  
	74faf 5Iq,R t? TO' 	.0Trd 

wrr ? 

131aT - 

77 7urrT '14 	5R-ii *WT aat .W.4317 I 	2x8=16 

5. Lir04-1qiici 31'77 	 1q11 A ,4114.stil 

W77 I 

6. 44) 	 31-r -irctrwfa--d-97 -wr---47 

7. otnistii f 7q1 f9NsiTT 	7cii 

-A-r---A-7 

8. 4.W1717 f4147' 	3-Trcr TErr 717-4A ? -3ff ft-P-rWf air 
W-A-7 fTiT4 	Ni47 714Thrr 

9. 11-1 CI kgc1 14 fcb4T 14 3771 7-di77 I 	 2x5=10 

(a) •cr*"Iftr*7 	3.TFfTfWTZ 

(b) 1 1-11; 	F1-11 04111 	3-ifriaW0 

(c) t-11 4-11"e-1 '  7R17' ` .4F-E7T' 

(d) M111.-f 311 t 34MT:11- 0 4 111 

ECO-006 	 4 


	Page 1
	Page 2
	Page 3
	Page 4

